+§x+|:|

¥2

ul il
KO

A A

B

VRS
SH
— |
N———
Il
S
)
U
o
q .
ol g
o o5
T o
o =
— | m_ﬁ
oO =
S oo
T
o R
S o
+ — |
=
& T
+
% =y




2. (x+1-a)(x-9-3a) 7} SAAFA L & 0|, a 9] 727

1 3
©-; @1 05 @2 )




thE AL WESHE A% m,n O] ZELY

X%+ 6x+m= (x+n)?

@m:Q,n:B @ m=9,n=-3 ®m=9,n==6
@® m=3,n=3 ® m=3n=-3

X%+ 6x 7F A FA O] HHE 2* +6x+9 = (x+3)? °)|E=
m=9,n=3°|th.




op

@ x> +3x+2

@x2—2x—3

@O x2-2x-38

® x2-3x+2

@ x2-x-2

B

(x+2)(x—4)

O x%-2x-8

(x=3)(x+1)
(x+1)(x+2)

(x+1)(x-=2)

@ x2-2x-3

®x®+3x+2
@ x>-x-2

@ x?-3x+2

(x-1(x-2)

@

ol
K

)
i

Al

%

WA (x-3) & 52




o, (b - a)?

o}
=

o, Aol 20| p 2t

=

=

Fol 2t

°

o
=2

Al
solat

.;L

=
o] HALZ1g 2] 742 9] Aol

o
=

A

il
)

sh

<)

8
b=t

(x+2)(x+4)

2
x+4

=

=

X2 +6x+8

—

A2 8 A9 Hol :
1

3l

Zs

A @ 7o) Hol:

Il
whebAq 2 A2hg o] ol

72 o]

x+2=a, A= Zo]

=

=

wel golzh1 ¢

T

b-a)? ={(x+4)-(x+2))2=22=4

A=, 7t=27} 2




6.

oFe el A AP FE0] Yol

® a® - 2ab + b?

@ a® + 2ab + b?

————————=

[« l Vi

(@)a2 - b? ® a? + b2
® a® + 2ab
AT RR o) A2t e) 7k o] dolk a-b, AR Aole




(x+4)*-3(x+4) & d+Eofistd?

@ (x+4)(x-1) @ (x-4)(x+1) @ (x-7)(x+4)
@e+96+1) O x-Nx+1)

(x+4)2-3(x+4)=(x+4)(x+4-3)
=(x+4)(x+1)




Hu)
oo
ol

>,
o
rEI
AP

A7V a, b o) g Ftele

37x(40+a) =402 —a®> = b

v V. v V¥
0
L
Q
[

0
o
S
I

—_
at
Nej
=

37% (40 +a) = 40> —a®> = (40 — a)(40 + a)
40—-a =37, a=3
b =40% - a® = 40% - 32 = 1591




9. x=-1+ V2Ll % +2x+ 19 FE F3toiat,
B

>
|> XHek o9

od -




TolRA xy+x+y+1 2 +x—xy—yo ZEOR Eo] 9
(?

@ y+1

® x+y

rr

w+x+y+1l=x(y+1)+@H+1)
=(x+1)(+1)

x2+x—xy—y:x(x+1)_y(x+1)
=(x+1)(x-y)




11.

= Al @ - 57 o] e Fefelh

1 1
= — = \/5—1,[7: =\/§+1
V2+1 V2-1

a’-b* = (a+b)(a-b)
=(V2-14+ V2+1)(V2-1-V2-1)
=2v2(-2) = -4V2

a




12, ¥ +ax-12= (x+b)(x+4), x> -5x-c= (x+3)(x+d) & i,
a+b+c+d¥E? (a, b, c, d =)

O -12 @14 ® 20 @ -28 ® -34

B ~

¥ t+ax—12= (x+b)(x+4) =x*+ (b+4)x+4b
a=b+4, —-12=4b

b=-3,a=-3+4=1

¥ =-bx—c=(x+3)(x+d)=x*+(d+3)x+3d
-5=d+3, c=-3d

cd=-8, c=-3x(-8) =24
na+b+c+d=1-34+24-8=14

B *
x* +ax-12 = (x + b)(x + 4) oA F+3F-& vlwotH
_12=4b - b=-3

b=-32 Al fystd

W rax-12=(x-3)(x+4)=x>+x-12

Ta=1

x? —bx—c = (x+3)(x+d) oA x & A4E HwsHHA
5=34+d - d=-8

d = -8 & Aol ddstH

¥ =bx—c=(x+3)(x-8) =x2-5x-24

L c=24




13.

O|2FA] 8x2 + (4k—6)x—15 & 2
et ol k O] Lo w dute A =

(]

(2x+3)(4x—5) o]zl

® 1 ©OF ® 3 @ 4 ® 5

(2x+3)(4x—5) =8x* +2x - 15,
4k -6 =2
Sk=2




] it e BEQ)

@x2—|—x—6

o =
K3

=

14.

® 2x24+7x+6

@ x%2-4

® 3x2+Tx+2

@ 2x% +3x-2

oy

o

)

ol

pu

)

e

1jo

_:_I

i

0|

)

[N}
N+
N T
Tt = H =
S r DI
\l/\l/3\L/1]
e £ D
| —
2rdd8y
QOO H




15. thg AoiA] [] ool ol & 4o] 42 Fatolet.

Bx+4)( k-5)=6x2-] k20

[
H -

>
l> b= B

oH =

(3x+4)(2x—5) = 6x> — Tx — 20
L7T-2=5




16. oA x>+ Ax+8 = (x+1)(x+ B) 2 &
*2?

(x+1)(x+8)=x*+9x+8,A=9, B=38
L 2A-B=18-8=10




17. 2 +ax-20 9 ¢ F o7t x+4 Q4 o, a o] 3E2?

-2 @-1 oo @ 1 ® 2

¥ +ax—20=(x+4)(x-5) a=-1




|ZHAE 2, So] a3 Zo] Zx JAeEs) At A& oAt
A& a2 JA+EASHA a(x —b)(x—c) € W, a+b+c 9 S
Fatolet

2 S 4TTS EHEL B Bx+3)(x-7) 22 QAIFE

A2 3x% — 22x + 24 A A4t +24 E A B,
22 322 — 18x — 21 oA x O] AlF= 18 2 9| H ot}
wHehA] 3x2 — 18x + 24 = 3(x — 2)(x — 4)
La=3,b=2,c=4

“a+b+c=9




19. oA E JAFEoistH x2(y + 4% + 2x(y + 4) - 8 =
(xy+Ax+B)(xy+Cx+D) @ wl, A+ B+ C+D 9 & +3}
ojz},

y+4=1=2 A5

C(y+4)2+2x(y+4)-8

= x%% 4 2xt — 8

= (xt +4) (xt - 2)

={x(+)+4} {x(+4) -2}

= (xy +4x+4) (xy + 4x - 2)

et A=B=C=4,D=-2°22 A+B+C+D=10
oftt.




20.

(a—2b-3)(a+2b+3) = ANt A2 &2 A2
@ a?24+4b%2-12b-9 @ a?—-4b%2-12b+9
® a2 -4b2+12b+9 @a2—4b2—12b—9

® a®+4b>+12b-9

B

2b+ 3 =A 2} 2| gtH

(a=A)(a+A) =a? - A?
=a?-(2b+3)>
=a® - (40 +12b+9)
=a?—4b*>-12b-9




A=V3++V2 B=V3-12
A])
A2 -B2? = (A +B)(A-B)

(V3+ V24 V3- v2)(V3+ V2- V3+ V2)
(2V3)(2V2) = 4V6

=
e

—




22. T % (m-1)2 - (n-1)? ©] JHE BE 29

m-1=A, n—1=B& |gk}A
(m—1)2 = (n—1)?
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